

05/09/2025 10:00 AM | Install 05/11/2025 08:30 AM | Strike

P0: **Shipping Address:** The Music Center 135 N Grand Ave, Los Angeles, CA 90012

On site contact Hillary (323) 273-8835

Sequoia Productions 3000 S Robertson Blvd., Suite 270 Los Angeles, CA 90034

Invoice Date:

Due Date: Upon Receipt

Salesperson: Milana Ayvazova

Description		Qtty	Price		Total
General					
	Roll of Black Lycra	1	\$0.00	Т	\$0.00
	used for back of panels,				
			Total General		\$0.00
Ground Level					
	Maybeline Panels 10'W x 8'H x 2'D L-brackets & sandbags, paint with prime for decal application, 2-24"W x 8'H returns, build approx 5'W x 8'H panels, screens to be hung on panels, make sure extra sandbags are provided,	1	\$1,200.00	Т	\$1,200.00
	Barstools - Buenos Aires - Gold off white cushions 21"W x 17"L x 4'H - Seat Height 30"	24	\$30.00	Т	\$720.00
	Bars - New York - Folding 8' bar painted arcade white high gloss, client to add decal on site 8'W x 30"L x 42"H - Color Change Upon Request	4	\$950.00	T	\$3,800.00
	Barback - Tokyo - Straight Basic 6' X 8'h - Metal painted gold, frosted plexi for top shelf front, client to add Hennessy decal on site, with top shelf for florist to add flowers 6'W x 18"D x 8'H	4	\$500.00	Т	\$2,000.00
	Bars - Bora Bora - Wood & Rattan 8' bar painted arcade white high gloss, front & side gold plexi mirror, client to add decal on site 8'w x 12"L x 44"H - Custom Frame color & Inserts upon request	3	\$2,300.00	Т	\$6,900.00
	Barbacks - Slatted Birch - Multicolor painted gold, frosted plexi for top shelf, client to add smartwater decal on site, placed separately, 6'W x 17"D x 90"H - Can be custom painted upon request	1	\$500.00	T	\$500.00
			Total Ground Level		\$15,120.00
Ground Level - L	oreal Stations				
	Panels - Freestanding Oval Wall painted high gloss gold, client to provide decal on site, revelry will hang mirrors on site, extra sandbags for support 5'w x 5"D x 101"H	2	\$850.00	Т	\$1,700.00
<u> </u>	Mirrors 36" x 36" only using 2, return third mirror to sequoia team on site	3	\$0.00	Т	\$0.00

Description		Qtty	Price		Total
	Barback - London - Gold Metal W/ Glass Shelves & Ba gold base 32"W x 14.5"L x 99"H - Custom Base Color Upon Request	se 1	\$200.00	Т	\$200.00
	Т	otal Ground Le	vel - Loreal Stati	ons	\$1,900.00
Ground Level - P	ortrait Area				
	Sofas - Curved Boucle - White 90"W X 43"D X 36"1/2"H - SEAT HEIGHT 17"H	2	\$550.00	T	\$1,100.00
3	Coffee Tables - Milan - Glass Top W/ Gold Frame 40"W x 40"L x 18"H	2	\$275.00	T	\$550.00
8	Club & Lounge Chairs - Jaipur - Channeled Off White Boucle W/ Gold Base 33"W x 34"D x 28"H	4	\$300.00	Т	\$1,200.00
J	Benches - Infinity Gold & Boucle 60"W X 16"D X 19" H	2	\$250.00	T	\$500.00
		Total Ground	rtal Ground Level - Portrait Area		\$3,350.00
Fround Level - A	bernathys				
	Sofas - Beverly Hills - Taupe W/ Silver Legs 72"W x 36"L x 33"H	1	\$450.00	Т	\$450.00
	Club & Lounge Chairs - Beirut - Ivory Velvet 30"W x 32"D x 27"H	2	\$300.00	T	\$600.00
	Coffee Tables - Santa Barbara - White Wash Mango Wood - 23" 23" Diam x 13.5"H	1	\$250.00	T	\$250.00
	Area Rugs - Shag - Ivory 8'W x 10'H	1	\$220.00	Т	\$220.00
		Total Ground	otal Ground Level - Abernathys		\$1,520.00
Ground Level - G	ifting Suite / Go Get Em				
	"The Whoo" Custom Panel 4'W x 8'H x 2'D panel painted oriental eggplant high gloss, 2 gold painted shelves 3 x 6"D x 1"H, client to add logo, sandbags, L-brackets & returns	1	\$650.00	Т	\$650.00
	Barback - Contemporary - Metal Right painted arcade white high gloss 35"W x 16"D x 9'H - Color Upon Request	1	\$280.00	Т	\$280.00

Description		Qtty	Price		Total
	Stand Up Tables - Aspen - Cocktail Table - Multicolor base painted arcade white high gloss, top in gold 20"W x 20"L x 40"H	4	\$200.00	Т	\$800.00
	Stand Up Tables - Tulip Base - Multicolor painted gold high gloss 32" Diam x 41"H	1	\$350.00	Т	\$350.00
	Total Ground Lo	evel - Gifting	g Suite / Go Get	Em	\$2,080.00
Ground Level -	Top of the stairs - Hedges				
	Panels - Hedge Panel 4'x10' L brackets and sandbags, & maybe pipe & base, placed back to back to span 40'W with 2' returns to close it off. client to hang logos, **REVELRY OVERSEES, CANNOT INSTALL* 4'X10'H	20	\$220.00	Т	\$4,400.00
	Panels - Hedge Panel 2'x10' **REVELRY OVERSEES, CANNOT INSTALL* 2'W x 10'H	2	\$160.00	Т	\$320.00
	Green Lycra Cut 25"W x 42'L staple on top of hedges to cover equipment for drone shots	1	\$100.00	Т	\$100.00
	Total Ground Le	vel - Top of	the stairs - Hed	ges	\$4,820.00
2nd Floor - Fou	nder's Room				
Ì	Pedestals - Rectangular 05 - Multicolor painted high gloss black 24"W x 24"D x 42"H - Color Change Upon Request	1	\$160.00	Т	\$160.00
	Ottomans - Beirut - Ivory Velvet 20"D x 16"H	10	\$100.00	Т	\$1,000.00
	Banquettes - Monaco - Straight White Channeled W/ Skirt 6' 6'W x 39"L x 30"H	4	\$400.00	T	\$1,600.00
	Sofas - Segovia - White W/ Brass Base 96"W x 40"L x 28"H	2	\$500.00	Т	\$1,000.00
	Club & Lounge Chairs - Segovia - Accent Chair White 42"W X 40"L X 28"H	4	\$300.00	Т	\$1,200.00
	Coffee Tables - Rome - Round - Off White 31 1/2"D x 16"H	2	\$275.00	T	\$550.00
			\$650.00	T	\$1,300.00

Description		Qtty	Price		Total
	Dj Booths - Nice - Oval Light Up - Gold with gold plexi mirror front, client to add decal on site 6'W x 20"L x 45.5"H	1	\$850.00	Т	\$850.00
	Ottomans - Hollywood - White W/ Brass Base 16"Diam x 18"H	4	\$55.00	T	\$220.00
		Total 2nd Floor - Founder's Room			\$7,880.00
Services					
	Install	10	\$650.00		\$6,500.00
	Strike	8	\$500.00		\$4,000.00
	Truck & Gas Surcharge	3	\$480.00		\$1,440.00
Please make che	cks payable to Revelry, Inc.		Total Produc	cts:	\$36,670.00
Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it		Total Labor/Services/Misc:			\$11,940.00
		Wear & Tear (5.00%): Packing (3.00%):			\$1,833.50 \$1,100.10
Notes		Taxes:			\$1,100.10
			Discour		(\$0.00)
			То	tal:	\$55,027.25
			Paymer		(\$30,000.00)
			Balan	ce:	\$25,027.25